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QUESTION 1

What two options are available when configuring a virtual flash resource on a virtual machine? (Choose two.) 

A. Block Size 

B. Limit 

C. SCSI Controller 

D. Reservation 

Correct Answer: AD 

 

QUESTION 2

What are two valid states for Compliance Status in VM Storage Policy? (Choose two.) 

A. Compliant 

B. Orphaned 

C. Invalid 

D. Out of Date 

Correct Answer: AD 

 

QUESTION 3

Which three functions are provided by Storage DRS? (Choose three.) 

A. space load balancing among datastores within a datastore cluster 

B. VM disk sizing recommendations for virtual machines in datastores within a datastore cluster 

C. I/O load balancing among datastores within a datastore cluster 

D. snapshot consolidation recommendations among datastores within a datastore cluster 

E. initial placement recommendations for virtual disks based on space and I/O workload 

Correct Answer: ACE 

 

QUESTION 4

An administrator is attempting to migrate a large Hadoop virtual machine using vMotion. The administrator notices a
delay when the machine is quiesced. The Hadoop virtual machine is processing many transactions a second to an in-
memory database. Which two actions would help reduce the amount of time needed to perform a vMotion on this virtual
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machine? (Choose two.) 

A. Use multiple NICs for the vMotion vmkernel port. 

B. Use a 10Gbps Network card for the vMotion vmkernel port. 

C. Add an additional management network to help transmit the data quicker. 

D. Disable Fault Tolerance before performing the vMotion. 

Correct Answer: AB 

 

QUESTION 5

Which two statements are true using Resource Pools? (Choose two.) 

A. Resource Pools require vSphere HA to be enabled 

B. Resource Pools compartmentalize all resources in a datacenter 

C. Resource Pools require vSphere DRS to be enabled 

D. Resource Pools compartmentalize all resources in a cluster 

Correct Answer: CD 
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